

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF

Return of Private Foundation or Section 4947(a)(1) Nonexempt Charitable Trust

OMB No 1545-0052 Treated as a Private Foundation Department of the Treasury Internal Revenue Service Note. The foundation may be able to use a copy of this return to satisfy state reporting requirements For calendar year 2011 or tax year beginning and ending Name of foundation A Employer identification number DONALD M. EPHRAIM FAMILY 36-3739581 FOUNDATION Number and street (or P O box number if mail is not delivered to street address) Room/suite Telephone number 312-321-9700 108 W. GRAND AVE. City or town, state, and ZIP code C If exemption application is pending, check here CHICAGO, IL 60654-5206 Initial return Initial return of a former public charity D 1. Foreign organizations, check here G Check all that apply: Final return Amended return Foreign organizations meeting the 85% test, 2. check here and attach computation Address change Name change Section 501(c)(3) exempt private foundation H Check type of organization: E If private foundation status was terminated Section 4947(a)(1) nonexempt charitable trust ____ Other taxable private foundation under section 507(b)(1)(A), check here X Cash Accrual J Accounting method: I Fair market value of all assets at end of year If the foundation is in a 60-month termination (from Part II, col. (c), line 16) Other (specify) under section 507(b)(1)(B), check here 1,934,185. (Part I, column (d) must be on cash basis) ▶\$ Part I | Analysis of Revenue and Expenses (d) Disbursements (b) Net investment (c) Adjusted net (a) Revenue and (The total of amounts in columns (b), (c), and (d) may not for charitable purposes expenses per books income income necessarily equal the amounts in column (a)) (cash basis only) N/A Contributions, gifts, grants, etc., received Check If the foundation is not required to attach Sch. B Interest on savings and temporary cash investments 54 54 STATEMENT 70,285 70,285 STATEMENT 4 Dividends and interest from securities 5a Gross rents Net rental income or (loss) 45,050 6a Net gain or (loss) from sale of assets not on line 10 492,757. 45,050. 7 Capital gain net income (from Part IV, line 2) 8 Net short-term capital gain Income modifications 10a Gross sales less returns and allowances Gross-brofit-on-(loss). Other income 12 Total Add lines 1 through 21 115,389 115,389 0. 13 mpensation of officers, directors 14 Other employee salaries and Wages 15 Pension plans, employee benefits 14 16a Legal fees Expen **b** Accounting fees 4,792. 4,792. 0. STMT 3 c Other professional fees 17 Interest 909 709. 0. STMT 4 18 Taxes 19 Depreciation and depletion 20 Occupancy 21 Travel, conferences, and meetings 22 Printing and publications

C Adjusted net income (if negative, enter -0-) LHA For Paperwork Reduction Act Notice, see instructions

8 Excess of revenue over expenses and disbursements

b Net investment income (if negative, enter -0-)

STMT 5

Form **990-PF** (2012)

0.

0.

95,992.

95,992.

29

5,730

95,992

101,722

13,667

N/A

4.

5,505

5,505

109,884

Total operating and administrative

expenses. Add lines 13 through 23

25 Contributions, gifts, grants paid 26 Total expenses and disbursements.

Add lines 24 and 25 27 Subtract line 26 from line 12:

23 Other expenses

ğ 24

Part III Analysis of Changes in Net Assets or Fund Ba	ances
---	-------

1	Total net assets or fund balances at beginning of year - Part II, column (a), line 30		
	(must agree with end-of-year figure reported on prior year's return)	1	2,047,577
2	Enter amount from Part I, line 27a	2	13,667
3	Other increases not included in line 2 (itemize)	3	0
4	Add lines 1, 2, and 3	4	2,061,244.
5	Decreases not included in line 2 (itemize) MARKET VALUE CHANGE	5	219,731
6	Total net assets or fund balances at end of year (line 4 minus line 5) - Part II, column (b), line 30	6	1,841,513
-			

Part IV Capital Gains	and Lo	osses for Tax on In	vestmen	t Income					
		ind(s) of property sold (e.g. or common stock, 200 shs			(b) h	low acquired Purchase - Donation		Date acquired o., day, yr.)	(d) Date sold (mo., day, yr.)
1a							<u> </u>		
b SEE ATTACHED	STA	TEMENT							
<u>c</u>					-	_			
<u>d</u>					1				
_e				 	Ь,		<u> </u>		<u></u>
(e) Gross sales price	(f)	Depreciation allowed (or allowable)		st or other basis expense of sale				h) Gain or (loss plus (f) minus	
a	ļ							 	
b									
<u>C</u>									
d 400 757	-	·- ·-		447 70	. ,				45 050
e 492,757.		askuma (h) and aumad but	the foundation	447,70	, , .		//\ O	(O-1 (b)	45,050.
Complete only for assets show	1					(ns (Col. (h) gair but not less tha	
(i) F.M.V. as of 12/31/69		(j) Adjusted basis as of 12/31/69		cess of col. (1) col. (j), if any				sses (from col.	
_a	<u> </u>				\perp				
<u>b</u>									
<u> </u>									
<u>d</u>									
e									45,050.
2 Capital gain net income or (net c	apıtal loss	If gain, also enter If (loss), enter -0-			}	2			45,050.
3 Net short-term capital gain or (lo	cc) ac daf	`							
3 Net short-term capital gain or (lo If gain, also enter in Part I, line 8			iu (U).		1				
If (loss), enter -0- in Part I, line 8		ν.				3		N/A	\
		Section 4940(e) for	Reduced	Tax on Net	Inve	estment li	ncom	е	
Was the foundation liable for the set If "Yes," the foundation does not qua 1 Enter the appropriate amount in	lify under	section 4940(e). Do not co	mplete this pa	rt.					Yes X No
(a)	eacii coid	T	Jeliona Delore	making any critic					(d)
Base periód years Calendar year (or tax year beginn	ıng ın)	Adjusted qualifying dis		Net value of no				Distri (col. (b) di	(d) bution ratio vided by col. (c))
2010			1,217.	- -		948,59			.046812
2009			<u>9,896.</u>			<u>,849,43</u>			.043200
2008			<u>6,590.</u>			,924,55			.034600
2007			2,330.			, <u>345, 28</u>			.046332
2006		<u> </u>	7,612.		_1_	<u>,261,08</u>	17.		.053614
2 Total of line 1, column (d)							_	2	.224558
3 Average distribution ratio for the the foundation has been in existe			on line 2 by 5,	or by the number	of yea	ars		3	.044912
4 Enter the net value of noncharita	ble-use as	ssets for 2011 from Part X,	line 5					4	1,993,267.
5 Multiply line 4 by line 3								5	89,522.
6 Enter 1% of net investment inco	me (1% o	f Part I, line 27b)						6	1,099.
7 Add lines 5 and 6	•	·						7	90,621.
8 Enter qualifying distributions fro	m Part XiI	I, line 4						8	95,992.
If line 8 is equal to or greater that See the Part VI instructions.			1b, and comp	lete that part usin	ng a 19	% tax rate.		<u> </u>	
340 2.1						-			orm 990-PF (2011)

Form	990-PF (2011) FOUNDATION	3739	581		Page 4
	rt VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 -	see ir	ıstrı	ctio	ns)
$\overline{}$	Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1.				
14	Date of ruling or determination letter: (attach copy of letter if necessary-see instructions)				
h	Domestic foundations that meet the section 4940(e) requirements in Part V, check here X and enter 1%			1.0	99.
•	of Part I, line 27b				
c	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).				
	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)				0.
	Add lines 1 and 2			1.0	99.
	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)				0.
	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-			1.0	99.
	Credits/Payments:				
	2011 estimated tax payments and 2010 overpayment credited to 2011 6a 569.				
	Exempt foreign organizations - tax withheld at source				
	Tax paid with application for extension of time to file (Form 8868)				
	Backup withholding erroneously withheld				
	Total credits and payments. Add lines 6a through 6d			5	69.
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached 8				
_	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed			5	30.
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid				
	Enter the amount of line 10 to be: Credited to 2012 estimated tax ▶ Refunded ▶ 11				
Pa	rt VII-A Statements Regarding Activities				
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in			Yes	No
	any political campaign?		1a		X
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for definition)?		1b		X
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or				
	distributed by the foundation in connection with the activities.				
C	Did the foundation file Form 1120-POL for this year?		1c		X
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:				
	(1) On the foundation. ▶ \$ 0 . (2) On foundation managers. ▶ \$ 0 .				
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation				
	managers. > \$O .				
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?		2		X
	If "Yes," attach a detailed description of the activities.				
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or				
	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes		3		X
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?		4a		Х
b	If "Yes," has it filed a tax return on Form 990-T for this year?	/A	4b		
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?		5		X
	If "Yes," attach the statement required by General Instruction T				
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:				
	By language in the governing instrument, or				
	By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law	1			
	remain in the governing instrument?	- }	6	<u> X</u>	
7	Did the foundation have at least \$5,000 in assets at any time during the year?		7	X	
	If "Yes," complete Part II, col (c), and Part XV.				
8a	Enter the states to which the foundation reports or with which it is registered (see instructions)				:
h	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)	—			
U	of each state as required by General Instruction G? If "No," attach explanation		8b	X	i
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar	}			
J	year 2011 or the taxable year beginning in 2011 (see instructions for Part XIV)? If "Yes," complete Part XIV		9		Х
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses	}	10		X
	The state of the s	Forn		-PF	2011)

4a

X

4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?

had not been removed from leopardy before the first day of the tax year beginning in 2011?

b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that

CHICAGO, IL 606545206	0.00	0.	0.	L 0.
2 Compensation of five highest-paid employees (other than those in	cluded on line 1). If none,	, enter "NONE."		
(a) Name and address of each employee paid more than \$50,000	(b) Title, and average hours per week devoted to position	(c) Compensation	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, other allowances
NONE				
				1
	· ·			
	1			
Total number of other employees paid over \$50,000		1	<u> </u>	
Total name of other originates paid over pooled				

All other program-related investments. See instructions.

Total. Add lines 1 through 3

36-3739581 Page 8 Form 990-PF (2011) FOUNDATION Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations, see instructions.) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes: 2,001,781. a Average monthly fair market value of securities 1a 1b 21,840. Average of monthly cash balances 1c Fair market value of all other assets 2,023,621. 1d Total (add lines 1a, b, and c) Reduction claimed for blockage or other factors reported on lines 1a and 0. 1<u>e</u> 1c (attach detailed explanation) Acquisition indebtedness applicable to line 1 assets 3 2,023,621 Subtract line 2 from line 1d 30,354 Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions) 4 993,267. 5 Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4 99,663 Minimum investment return. Enter 5% of line 5 Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and certain foreign organizations check here | [and do not complete this part.) 99,663. Minimum investment return from Part X, line 6 1,099. 2a Tax on investment income for 2011 from Part VI, line 5 b Income tax for 2011. (This does not include the tax from Part VI.) 1,099. Add lines 2a and 2b 2c 98,564. Distributable amount before adjustments. Subtract line 2c from line 1 3 4 Recoveries of amounts treated as qualifying distributions 98,564. 5 Add lines 3 and 4 6 Deduction from distributable amount (see instructions) 98,564 Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1 Part XII Qualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes: 95,992. a Expenses, contributions, gifts, etc. - total from Part I, column (d), line 26 1a Program-related investments - total from Part IX-B 1b Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes 2 Amounts set aside for specific charitable projects that satisfy the: 3a a Suitability test (prior IRS approval required) 3b Cash distribution test (attach the required schedule) 95,992. Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4 4 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment

Note The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section

Form **990-PF** (2011)

1,099.

income. Enter 1% of Part I, line 27b

Adjusted qualifying distributions. Subtract line 5 from line 4

4940(e) reduction of tax in those years.

FOUNDATION

Part XIII Undistributed Income (see instructions)

Corpus Years prior to 2010 2010	
1 Distributable amount for 2011 from Part XI,	
line 7	98,564.
2 Undistributed income, if any, as of the end of 2011	
a Enter amount for 2010 only	
b Total for prior years:	
0.	
3 Excess distributions carryover, if any, to 2011:	
a From 2006	
b From 2007	
c From 2008	
d From 2009	
e From 2010	
f Total of lines 3a through e O .	
4 Qualifying distributions for 2011 from	
Part XII, line 4: ►\$95,992.	
a Applied to 2010, but not more than line 2a	
b Applied to undistributed income of prior	
years (Election required - see instructions)	
c Treated as distributions out of corpus	
(Election required - see instructions) 0.	
d Applied to 2011 distributable amount	420.
e Remaining amount distributed out of corpus	
5 Excess distributions carryover applied to 2011 (If an amount appears in column (d), the same amount must be shown in column (a))	0.
6 Enter the net total of each column as indicated below:	
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	
b Prior years' undistributed income. Subtract	
line 4b from line 2b	
c Enter the amount of prior years'	
undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed	
d Subtract line 6c from line 6b. Taxable	
amount - see instructions 0 •	
e Undistributed income for 2010. Subtract line	
4a from line 2a. Taxable amount - see instr.	
f Undistributed income for 2011. Subtract	
lines 4d and 5 from line 1. This amount must	
be distributed in 2012	98,144.
7 Amounts treated as distributions out of	
corpus to satisfy requirements imposed by	
section 170(b)(1)(F) or 4942(g)(3)	
8 Excess distributions carryover from 2006	
not applied on line 5 or line 7	
9 Excess distributions carryover to 2012.	
Subtract lines 7 and 8 from line 6a 0 .	<u> </u>
10 Analysis of line 9:	
a Excess from 2007	
b Excess from 2008	
c Excess from 2009	
d Excess from 2010	
e Excess from 2011	n 990-PF (2011)

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors:

c Any submission deadlines:

DONALD M. EPHRAIM FAMILY 36-3739581 Page 11 Form 990-PF (2011) FOUNDATION Supplementary Information (continued) 3 Grants and Contributions Paid During the Year or Approved for Future Payment If recipient is an individual, Foundation Purpose of grant or show any relationship to Amount status of contribution any foundation manager or substantial contributor Name and address (home or business) recipient a Paid during the year PUBLIC CHARITY CALVARY MEMORIAL CHURCH 931 LAKE STREET 100. OAK PARK, IL 60301 PUBLIC CHARITY AMERICAN HEART ASSOCIATION 7272 GREENVILLE AVE 200. DALLAS, TX 75231 PUBLIC CHARITY NATIONAL STRATEGY FORUM 53 W JACKSON, SUITE 1202 200. CHICAGO IL 60604 PUBLIC CHARITY JEWISH FEDERATION OF PALM BEACH COUNTY 4601 COMMUNITY DRIVE 35,800. WEST PALM BEACH, FL 33417 PUBLIC CHARITY CHICAGO SINAI CONGREGATION 15 W DELAWARE PLACE 220. CHICAGO IL 60610 SEE CONTINUATION SHEET(S) ▶ 3a 95,992. Total b Approved for future payment NONE

Form **990-PF** (2011)

Total

3 Grants and Contributions Paid During the Ye				-
Recipient Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	Amount
Name and address (nome or business)	or substantial contributor	recipient		
DEPAUL UNIVERSITY		PUBLIC CHARITY		
E JACKSON BLVD				
CHICAGO, IL 60604		 		2,00
PALM BEACH POPS		PUBLIC CHARITY		
000 AUSTRALIAN AVE S SUITE 100				
EST PALM BEACH, FL 33401		 		12,50
JEWISH FEDERATION OF METROPOLITAN		PUBLIC CHARITY		
CHICAGO				
30 S WELLS				
CHICAGO, IL 60606				_ 5,00
FAMILY NETWORK		PUBLIC CHARITY		
330 LAUREL AVE				1,25
HIGHLAND PARK, IL 60035			• •	1,23
NA'AMAT		PUBLIC CHARITY		
10024 N SKOKIE BLVD SKOKIE, IL 60077				20
SKOKIE, II VVVI				
NORTON MUSEUM OF ART 1451 S OLIVE AVE		PUBLIC CHARITY		
WEST PALM BEACH, FL 33401				1,70
·				
MUE ADV		PUBLIC CHARITY		•
THE ARK 6450 N CALIFORNIA AVE		TOBBIC CHARTIT		
CHICAGO, IL 60645				50
SIMON WIESENTHAL CENTER		PUBLIC CHARITY		
1399 S ROXBURY DR				
LOS ANGELES, CA 90035		-		50
KRAVIS CENTER FOR THE PERFORMING ARTS		PUBLIC CHARITY		
701 OKEECHOBEE BLVD				
WEST PALM BEACH, PL 33401	-	 		12,50
FIELD MUSEUM		PUBLIC CHARITY		
1400 S LAKE SHORE DRIVE				1
CHICAGO IL 60605 Total from continuation sheets	<u> </u>	1		1,00 59,47

Part XV Supplementary Information Grants and Contributions Paid During the Year (Continuation) If recipient is an individual, Recipient show any relationship to any foundation manager Foundation Purpose of grant or Amount status of contribution Name and address (home or business) recipient or substantial contributor PUBLIC CHARITY MALTZ JUPITER THEATER 1001 E INDIANTOWN RD JUPITER FL 33477 986. PUBLIC CHARITY UNIVERSITY OF CHICAGO LAW SCHOOL 1111 E 60TH ST CHICAGO, IL 60637 5,000. PUBLIC CHARITY PALM BEACH COUNTY CULTURAL 1555 PALM BEACH LAKES BLVD SUITE 300 1,000. WEST PALM BEACH, FL 33401 ART INSTITUTE OF CHICAGO PUBLIC CHARITY 111 S MICHIGAN AVE CHICAGO, IL 60603 1,000. PUBLIC CHARITY ANTI DEFAMATION LEAGUE 605 THIRD AVE NEW YORK, NY 10158 2,500. PUBLIC CHARITY WTTW 5400 N ST LOUIS AVE 1,000. CHICAGO, IL 60625 ART INSTITUTE OF CHICAGO SISKEL FILM PUBLIC CHARITY CENTER 37 S WABASH AVE 2,000. CHICAGO, IL 60603 PUBLIC CHARITY REHABILITATION INSTITUTE OF CHICAGO 345 E SUPERIOR ST CHICAGO IL 60611 500. PUBLIC CHARITY HENRY MORRISON FLAGLER MUSEUM 1 WHITEHALL WAY 1,000. PALM BEACH, FL 33480 PUBLIC CHARITY HEBREW CONGREGATION OF ST THOMAS PO BOX 266 36. ST THOMAS, VI 00804 Total from continuation sheets

Part XV **Supplementary Information** Grants and Contributions Paid During the Year (Continuation) If recipient is an individual, Recipient Foundation Purpose of grant or show any relationship to contribution Amount status of any foundation manager Name and address (home or business) recipient or substantial contributor PUBLIC CHARITY UNITED STATES HOLOCAUST MEMORIAL MUSEUM 100 RAOUL WALLENBERG PLACE SW 500. WASHINGTON, DC 20024 HADASSAH PUBLIC CHARITY 50 W 58TH ST 1,500. NEW YORK, NY 10019 CONGREGATION BETH JUDEA PUBLIC CHARITY 5304 RFD 200. LONG GROVE IL 60047 PUBLIC CHARITY AMERICAN JEWISH COMMITTEE 165 E 56TH ST 2,500. NEW YORK, NY 10022 BERNARD ZELL ANSHE EMET DAY SCHOOL PUBLIC CHARITY 3751 N BROADWAY CHICAGO, IL 60613 1,500. COMMUNITY FAMILY CENTER PUBLIC CHARITY 580 ROGER WILLIAMS SUITE 23 350. HIGHLAND PARK, IL 60035 MUSEUM OF SCIENCE AND INDUSTRY PUBLIC CHARITY 57TH ST AND LAKE SHORE DRIVE <u>250.</u> CHICAGO, IL 60637 MUSEUM OF BROADCAST COMMUNICATIONS PUBLIC CHARITY 400 N STATE SUITE 240 200. CHICAGO, IL 60610 PUBLIC CHARITY WBEZ 135 S LASALLE ST CHICAGO, IL 60674 100. GREATER CHICAGO FOOD DEPOSITORY PUBLIC CHARITY 4100 W ANN LURIE PL 200, CHICAGO, IL 60632

. . . .

Total from continuation sheets

iter gross amounts unless otherwise indicated.	Unrelated b	Unrelated business income		y section 512, 513, or 514	(e)	
	(a) Business	(b) Amount	(C) Exclu- sion	(d) Amount	Related or exempt	
Program service revenue:	code	Alliount	code	Amount		
a	_			_		
b	_					
<u> </u>	1 1		_			
d	_					
e			+ +			
g Fees and contracts from government agencies	_					
Membership dues and assessments				-		
Interest on savings and temporary cash						
investments			14	54.		
Dividends and interest from securities			14	70,285.		
Net rental income or (loss) from real estate:						
a Debt-financed property						
b Not debt-financed property						
Net rental income or (loss) from personal						
property						
Other investment income						
Gain or (loss) from sales of assets other						
than inventory			18	45,050.		
Net income or (loss) from special events						
Gross profit or (loss) from sales of inventory						
Other revenue:						
a	_					
b	_					
<u> </u>						
d	-		- 			
Subtotal. Add columns (b), (d), and (e)	_ _	0).	115,389.		
Total. Add line 12, columns (b), (d), and (e)			<u> </u>	13	115,38	
ee worksheet in line 13 instructions to verify calculations	.)				113/30	
Part XVI-B Relationship of Activitie		nlichment of l	Evamet D			
rant Avi-b Relationship of Activitie	s to the Accon	ipiisninent or i	exempt P	urposes		
ine No. Explain below how each activity for which in			I-A contributed	importantly to the accomp	lishment of	
▼ the foundation's exempt purposes (other the foundation)	nan by providing funds	for such purposes).				

Line No. ▼	Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to the accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes).

Part XVII	Information Regarding Exempt Organizations	Transfers To a	and Transactions a	nd Relations	hips With Noncha	ritable	•	
1 Did the or	ganization directly or indirectly engag	e in any of the following	g with any other organization	on described in sect	ion 501(c) of	7	Yes	No
	(other than section 501(c)(3) organiza							
	from the reporting foundation to a no							
(1) Cash			v			1a(1)		<u> </u>
(2) Other						1a(2)		X
b Other tran								
(1) Sales	of assets to a noncharitable exempt	organization				1b(1)		<u> </u>
(2) Purcl	hases of assets from a noncharitable (exempt organization				1b(2)		X
(3) Renta	al of facilities, equipment, or other ass	ets				1b(3)		X X X X
• •	bursement arrangements					1b(4)		<u>X</u>
(5) Loan	s or loan guarantees					1b(5)		<u>X</u>
. ,	rmance of services or membership or	-				1b(6)		<u>X</u>
-	f facilities, equipment, mailing lists, of					1c		<u> </u>
	wer to any of the above is "Yes," comp is given by the reporting foundation. I						ets,	
	1) the value of the goods, other assets	, or services received.						
(a) Line no	(b) Amount involved (c)	Name of noncharitable	e exempt organization	(d) Description	of transfers, transactions, and	sharing ar	angeme	nts
		<u> N/A</u>						
				-				
		··						
-		<u> </u>						
				 				
								
								
		·	·-···		 			
	-		· · · · · · · · · · · · · · · · · · ·					
ın section	ndation directly or indirectly affiliated 501(c) of the Code (other than section omplete the following schedule.			zations described		Yes	X] No
	(a) Name of organization		(b) Type of organization		(c) Description of relations	hip		
	N/A							
					_			
			<u> </u>					
Sign Here	r penalties of penury, I declare traty have ex- elief, it is true, corpect, and complete beclar mature of officer or trustee	amine of this return, including attornoof preparer (other that	ng accompanying schedules and in taxpayer) is based on all inform	statements, and to the nation of which prepare PRESII Title	r has any knowledge retu sho	y the IRS our with the own below Yes	e prepar- (see ins	er i
	Print/Type preparer's name	Preparer's s		Date	Check If PTIN			
	7, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2,	7. n	41/1	[. , <u> </u>	self- employed			
Paid	DAVID M. EPHRAI	M YYY	77/	5/1/2	P0	0086	360	
Preparer	Firm's name ► EPHRAIM		ES, P.C.		Firm's EIN ► 36-2			_
Use Only								
-	Firm's address ▶ 108 WES	T GRAND AV	ENUE					
	CHICAGO				Phone no. (312			
					Fo	rm 990	- PF (2011)

Part IV	Capital Gains and Los	ses for Tax on Investment Income					
-	(a) List and 2-story br	describe the kind(s) of property sold ick warehouse; or common stock, 20	d, e.g., real estate, 00 shs. MLC Co.		(b) How acquired P - Purchase D - Donation	(c) Date acquired (mo., day, yr.)	(d) Date sold (mo., day, yr.)
1a PUB	TRADED SEC	S-BERNSTEIN&CO (SHORT TERM)	_	P		
b PUB	TRADED SEC	S-BERNSTEIN&CO (LONG TERM)		P		
		S-BERNSTEIN&CO (P		04/18/11
d 10	CALLS MSFT	JUL11029-EXP CAL	L SOLD SHORT (E'	<u> </u>	P	07/19/11	12/14/10
e CAP	ITAL GAINS	DIVIDENDS					
f							
9							
h							
_ I	<u> </u>						
<u>k</u>	<u> </u>						
	 .						
_m						<u> </u>	
<u>n</u>							
0	·	(f) Depreciation allowed	(g) Cost or other basis	Ī	/h'	Gain or (loss)	
(e)	Gross sales price	(r) Depreciation allowed (or allowable)	plus expense of sale			lus (f) minus (g)	
	200,805.	· · · · · · · · · · · · · · · · · · ·	198,522	_		, , ,,,,	2,283.
<u>a</u> b	273,341.	-	249,185				24,156.
C	6.		243,103	•			6.
d	1,412.			+	_ .		1,412.
e	17,193.	-		1			17,193.
f					•		
9							
h _							
1							
]							
k						<u> </u>	
<u> </u>				<u> </u>			
m							
n						-	
0				-			
Compl	ete only for assets showin	g gain in column (h) and owned by		4		ises (from col. (h)) of col. (h) gain ove	
(i) F.I	M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Excess of col. (I) over col. (J), If any			ot less than "-0-")	
a		-					2,283.
<u>b</u>				_			24,156.
C				-		_	6.
<u>d</u>				+			1,412.
<u>e</u>							17,193.
f			<u> </u>	+	 -		
<u>g</u>				-		_	
<u>h</u>				+			
<u></u>			· · · · · · · · · · · · · · · · · · ·	+			
k		<u> </u>		+			
ı .							
<u>' </u>				T			
n						-	
0							
		a	Don't line 7				
2 Capital	gain net income or (net ca	pital loss) { If gain, also enter if (loss), enter if (loss), enter if (loss)	in Part I, line /)-" in Part I, line 7	2			45,050.
3 Net sho	rt-term capital dain or (los	ss) as defined in sections 1222(5) an	_				_
If gain,	also enter in Part I, line 8,	column (c).	}				
	, enter "-0-" in Part I, line 8		J	3	1	N/A	

FORM 990-PF INTEREST ON SAY	VINGS A	ND TEM	PORARY C	ASH I	NVESTMENTS	STATEMENT	1
SOURCE						AMOUNT	
E*TRADE BROKERAGE SANFORD C. BERNSTEIN & CO. VANGUARD MONEY MARKET FUND							49. 4. 1.
TOTAL TO FORM 990-PF, PART	I, LINE	3, CO	LUMN A				54.
FORM 990-PF DIVIDE	NDS AND	INTER	EST FROM	SECU	RITIES	STATEMENT	2
SOURCE		GROSS	AMOUNT		ITAL GAINS IVIDENDS	COLUMN (A AMOUNT	.)
	(DIV) (INT)		14,008. 60,970. 12,500.		0. 17,193. 0.	14,0 43,7 12,5	77.
TOTAL TO FM 990-PF, PART I,	LN 4		87,478.		17,193.	70,2	85.
FORM 990-PF	OTHER :	PROFES	SIONAL F	EES		STATEMENT	3
DESCRIPTION	EXPE	A) NSES BOOKS	(B) NET INV MENT IN	EST-	(C) ADJUSTED NET INCOM		
SANFORD C BERNSTEIN & CO (INV FEES)		4,792.	4	,792.			0.
TO FORM 990-PF, PG 1, LN 160	<u> </u>	4,792.	4	,792.			0.
FORM 990-PF	·	TAX	ES			STATEMENT	4
DESCRIPTION	EXPE	A) NSES BOOKS	(B) NET INV MENT IN		(C) ADJUSTED NET INCOM		
			- MENT IN		MEI INCOM	E PURPOS	
INVESTMENT INCOME EXCISE TAX		200.		0.			0.
FOREIGN TAXES ON DIVIDEND INCOME		709.		709.			0.
TO FORM 990-PF, PG 1, LN 18		909.		709.			0.
							

ILLINOIS CHARITABLE ORGANIZATION FEE 15.	FORM 990-PF	OTHER E	XPENSES			STATEMENT	5
ILLINOIS CHARITABLE ORGANIZATION FEE 15. 0. 0. 0. 0. 0. 0. 0.	DESCRIPTION	EXPENSES	NET INVE		ADJUSTEI	CHARITA	
ORGANIZATION FEE 15. 0. 0. MARGIN INTEREST 4. 4. 0. TO FORM 990-PF, PG 1, LN 23 29. 4. 0. FORM 990-PF CORPORATE STOCK STATEMENT 6. DESCRIPTION BOOK VALUE FAIR MARKET VALUE FAIR MARKET VALUE E*TRADE ACCOUNT - SEE ATTACHMENT 1,081,001. 1,081,001. 1,081,001. TOTAL TO FORM 990-PF, PART II, LINE 10B 1,633,276. 1,633,276. FORM 990-PF CORPORATE BONDS STATEMENT 7 DESCRIPTION BOOK VALUE FAIR MARKET VALUE VALUE DESCRIPTION BOOK VALUE TAIR MARKET VALUE VALUE TOTAL TO FORM 990-PF, PART II, LINE 10C 189,031. 189,031. 189,031. FORM 990-PF OTHER LIABILITIES STATEMENT 8 DESCRIPTION BOY AMOUNT BOY AMOUNT EOY AMOUNT CREDIT CARD BALANCE PAYABLE 74,501. 92,672.		10.		0.			0.
FORM 990-PF CORPORATE STOCK STATEMENT 6 DESCRIPTION BOOK VALUE FAIR MARKET VALUE E*TRADE ACCOUNT - SEE ATTACHMENT 552,275. 1,081,001. 1,081,0	ORGANIZATION FEE						0. 0.
DESCRIPTION BOOK VALUE VALUE E*TRADE ACCOUNT - SEE ATTACHMENT 552,275. 552,275. BERNSTEIN - SEE ATTACHMENT 1,081,001. 1,081,001. TOTAL TO FORM 990-PF, PART II, LINE 10B 1,633,276. 1,633,276. FORM 990-PF CORPORATE BONDS STATEMENT 7 DESCRIPTION BOOK VALUE VALUE BERNSTEIN - SEE ATTACHMENT 189,031. 189,031. TOTAL TO FORM 990-PF, PART II, LINE 10C 189,031. 189,031. FORM 990-PF OTHER LIABILITIES STATEMENT 8 DESCRIPTION BOY AMOUNT EOY AMOUNT CREDIT CARD BALANCE PAYABLE 74,501. 92,672.	TO FORM 990-PF, PG 1, LN 23	29.		4.			0.
DESCRIPTION BOOK VALUE VALUE E*TRADE ACCOUNT - SEE ATTACHMENT 552,275. 552,275. BERNSTEIN - SEE ATTACHMENT 1,081,001. 1,081,001. TOTAL TO FORM 990-PF, PART II, LINE 10B 1,633,276. 1,633,276. FORM 990-PF CORPORATE BONDS STATEMENT 7 DESCRIPTION BOOK VALUE FAIR MARKET VALUE BERNSTEIN - SEE ATTACHMENT 189,031. 189,031. TOTAL TO FORM 990-PF, PART II, LINE 10C 189,031. 189,031. FORM 990-PF OTHER LIABILITIES STATEMENT 8 DESCRIPTION BOY AMOUNT BOY AMOUNT BOY AMOUNT CREDIT CARD BALANCE PAYABLE 74,501. 92,672.	FORM 990-PF	CORPORAT	E STOCK	·		STATEMENT	6
BERNSTEIN - SEE ATTACHMENT 1,081,001. 1,081,001. 1,081,001. TOTAL TO FORM 990-PF, PART II, LINE 10B 1,633,276. 1,633,276. FORM 990-PF CORPORATE BONDS STATEMENT 7 DESCRIPTION BOOK VALUE FAIR MARKET VALUE BERNSTEIN - SEE ATTACHMENT 189,031. 189,031. TOTAL TO FORM 990-PF, PART II, LINE 10C 189,031. 189,031. FORM 990-PF OTHER LIABILITIES STATEMENT 8 DESCRIPTION BOY AMOUNT EOY AMOUNT CREDIT CARD BALANCE PAYABLE 74,501. 92,672.	DESCRIPTION			вос	OK VALUE		r
FORM 990-PF CORPORATE BONDS STATEMENT 7 DESCRIPTION BOOK VALUE VALUE BERNSTEIN - SEE ATTACHMENT 189,031. 189,031. TOTAL TO FORM 990-PF, PART II, LINE 10C 189,031. 189,031. FORM 990-PF OTHER LIABILITIES STATEMENT 8 DESCRIPTION BOY AMOUNT EOY AMOUNT CREDIT CARD BALANCE PAYABLE 74,501. 92,672.		MENT		1			
DESCRIPTION BOOK VALUE FAIR MARKET VALUE 189,031. 189,031. TOTAL TO FORM 990-PF, PART II, LINE 10C FORM 990-PF OTHER LIABILITIES STATEMENT BOY AMOUNT CREDIT CARD BALANCE PAYABLE FAIR MARKET VALUE 189,031. 189,031. 189,031.	TOTAL TO FORM 990-PF, PART I	I, LINE 10B		1	1,633,276.	1,633,2	76.
DESCRIPTION BERNSTEIN - SEE ATTACHMENT TOTAL TO FORM 990-PF, PART II, LINE 10C 189,031. FORM 990-PF OTHER LIABILITIES STATEMENT BOY AMOUNT CREDIT CARD BALANCE PAYABLE OALUE VALUE VALUE VALUE BOY AMOUNT BOY AMOUNT 92,672.	FORM 990-PF	CORPORAT	E BONDS	_		STATEMENT	7
TOTAL TO FORM 990-PF, PART II, LINE 10C 189,031. 189,031. STATEMENT 8 DESCRIPTION CREDIT CARD BALANCE PAYABLE 74,501. 92,672.	DESCRIPTION			вос	OK VALUE		r
FORM 990-PF OTHER LIABILITIES STATEMENT 8 DESCRIPTION BOY AMOUNT EOY AMOUNT CREDIT CARD BALANCE PAYABLE 74,501. 92,672.	BERNSTEIN - SEE ATTACHMENT				189,031.	189,0	31.
DESCRIPTION BOY AMOUNT EOY AMOUNT CREDIT CARD BALANCE PAYABLE 74,501. 92,672.	TOTAL TO FORM 990-PF, PART I	I, LINE 10C	:	· •	189,031.	189,0	31.
CREDIT CARD BALANCE PAYABLE 74,501. 92,672.	FORM 990-PF	OTHER LIA	BILITIES			STATEMENT	8
	DESCRIPTION			воз	AMOUNT	EOY AMOUNT	
TOTAL TO FORM 990-PF, PART II, LINE 22 74,501. 92,672.	CREDIT CARD BALANCE PAYABLE		•		74,501.	92,6	72.
	TOTAL TO FORM 990-PF, PART I	I, LINE 22			74,501.	92,6	72.

FORM 990-PF

GRANT APPLICATION SUBMISSION INFORMATION PART XV, LINES 2A THROUGH 2D

STATEMENT

9

NAME AND ADDRESS OF PERSON TO WHOM APPLICATIONS SHOULD BE SUBMITTED

DONALD M. EPHRAIM 108 W. GRAND AVE. CHICAGO, IL 606545206

TELEPHONE NUMBER

312-321-9700

FORM AND CONTENT OF APPLICATIONS

ALL APPLICATIONS MUST BE IN WRITTEN FORM. THEY MUST INCLUDE A DESCRIPTION OF THE ORGANIZATION WHICH IS SUBMITTING THE APPLICATION, THE GRANT AMOUNT(S) REQUESTED BY SUCH ORGANIZATION AND THE USE WHICH THE SUBMITTING ORGANIZATION INTENDS TO MAKE OF ANY GRANT(S) THAT MAY BE RECEIVED FROM THIS FOUNDATION. ALL APPLICATIONS MUST, IN ADDITION, INCLUDE A COPY OF THE SUBMITTING ORGANIZATION'S IRS DETERMINATION LETTER EVIDENCING QUALIFICATION AS A SECTION 501(C)(3) ORGANIZATION, TOGETHER WITH A COPY OF THE SUBMITTING ORGANIZATION'S MOST RECENTLY FILED IRS FORM 990.

ANY SUBMISSION DEADLINES

NONE

RESTRICTIONS AND LIMITATIONS ON AWARDS

NONE



A subsidiary of AllianceBernstein L P

Account No.* 888-49405 Period Ending 12/30/2011 **Last Statement**

11/30/2011

* Comprised of the following sub-accounts: 039-04287 039-04290 039-22992

DONALD M EPHRAIM
FAMILY FOUNDATION
DONALD M. EPHRAIM, PRESIDENT
PERSONAL & CONFIDENTIAL
161 E. CHICAGO AVE., APT. 59L3
CHICAGO IL 60611-6689

Bernstein Advisor:

Andrew Jacobs

(312) 696-7895

Advisor Associate(s):

Drew Gibbons

(312) 696-7840

Robert Stafseth

(312) 696-7852

Fax Number:

(312) 696-7979

MEMBER, NEW YORK STOCK EXCHANGE, INC.



ACCOUNT SUMMARY	Opening Balance	%	Closing Balance	%
Cash	4,628	03	5,478	0 4
Intermediate Duration	222,179	16.3	189,031	148
Strategic Value	162,583	11 9	150,219	11 8
Strategic Growth	167,908	12 3	155,197	12 2
International Portfolio	105,418	7.7	101,727	8.0
Emerging Markets Fund	47,819	3.5	49,651	3 9
AllianceBernstein Global Real Estate Fund	76,509	56	76,115	6.0
Dynamic Asset Allocation Overlay	343,025	25.1	313,277	24 6
Unmanaged Equity	235,878	17.3	234,816	18.4
Total Account Value	1,365,947	100.0	1,275,510	100.0

INCOME SUMMARY	Current Month	Year To Date
Credit Interest	1	4
Taxable Bond Fund Dividends	1,482	8,177
Taxable Bond Interest	3,125	12,500
Equity Dividends	6,221	19,235
Dynamic Asset Allocation Dividends	16,351	16,351
Total Income	27,180	56,267
Margin Interest Paid	0	4

Quantity	Description	Price	Market Value	Estimated A	nnual Income
				Rate	Amount
Cash					
	Closing Cash Balance		5,478	0 05%	2



A subsidiary of AllianceBernstein LP

DONALD M EPHRAIM

Account No.* 888-49405

Period Ending 12/30/2011

Last Statement

11/30/2011

* Comprised of the following sub-accounts: 039-04287 039-04290 039-22992

Quantity	Description	Price	Market Value		Annual Income
				Rate	Amount
Fixed Income Taxable					
Intermediate Duration	DEDUCTED ATTENDED	10.000	400.050	****	4 700
13,625 736		13.860	188,853	\$0.35	4,783
	DURATION PORTFOLIO		178AI		
U.S. Equity					
Strategic Value	ADDITED MATERIALS INC	10.710	3,213	\$0 32	96
	APPLIED MATERIALS INC ASTRAZENECA PLC	46 290	6,018	\$0.32 \$2.70	351
	AT&T INC	30.240	2,117	\$2.76 \$1.76	123
165		42.740	7,052	\$1.76 \$1.68	277
	CENTERPOINT ENERGY INC	20.090	1,005	\$0.79	40
	CENTURYLINK INC	37 200	5,766	\$2 90	450
85		18.080	1,537	\$0.24	20
55		34 870	1,918	\$0.00	0
250		26.310	6,578	\$0.04	10
95		22 080	2,098	\$0.84	80
25		72.870	1,822	\$2.64	66
90		20.670	1,860	\$0.00	0
165	CORNING INC	12.980	2,142	\$0.30	50
70	DELL INC	14.630	1,024	\$0.00	0
225	DELTA AIR LINES INC DEL	8 090	1,820	\$0 00	0
25	DEVON ENERGY CORPORATION NEW	62.000	1,550	\$0.68	17
25	DIRECTV	42 760	1,069	\$0 00	0
40	DTE ENERGY CO	54 450	2,178	\$2.35	94
95	FORD MOTOR CO	10.760	1,022	\$0.20	19
55	GAMESTOP CORP	24 130	1,327	\$0 00	0
225	GANNETT CO INC	13 370	3,008	\$0 32	72
125	GENERAL ELECTRIC CO	17.910	2,239	\$0.68	85
200	GENERAL MOTORS COMPANY	20.270	4,054	\$0.00	0
62	GILEAD SCIENCES INC	40.930	2,538	\$0 00	0
13		90.430	1,176	\$1 40	18
50	HEALTH NET INC	30.420	1,521	\$0 00	0
250		25.760	6,440	\$0.48	120
30		30 470	914	\$0 64	19
	JOHNSON & JOHNSON	65.580	7,542	\$2.28	262
150		24.220	3,633	\$0.46	69
55		37 020	2,036	\$0.00	0
40		39 800	1,592	\$0.50	20
25		25.380	635	\$0 56	14
	LYONDELLBASELL INDUSTRIES	32.490	2,924	\$1 00 \$0.60	90
	MARATHON OIL CORP	29.270	3,659	\$0 60 \$1 00	75 120
	MARATHON PETE CORP	33 290	4,328	\$1.00 \$1.00	130
	MCGRAW HILL COMPANIES INC	44 970	1,124	\$1.00 \$0.00	25
	MICRON TECHNOLOGY INC	6.290	2,202	\$0.00 \$0.64	0
	MOODYS CORP	33 680 15 130	1,852	\$0 64 \$0 30	35
	MORGAN STANLEY	15 130	1,891	\$0 20 \$0 33	25
85	NEWELL RUBBERMAID INC	16.150	1,373	\$0 32	27



AS Sanford C. Bernstein & Co., LLC

A subsidiary of AllianceBernstein L P

DONALD M EPHRAIM

Account No.* 888-49405 Period Ending 12/30/2011 **Last Statement** 11/30/2011

* Comprised of the following sub-accounts: 039-04287 039-04290 039-22992

1 4	130 1 425 60 55 75 50 110 80 75	NORTHROP GRUMMAN CORP NV ENERGY INC NVR INC PFIZER INC THE TRAVELERS COMPANIES INC TIME WARNER CABLE INC TRANSOCEAN LTD TRW AUTOMOTIVE HOLDINGS INC TYSON FOODS INC-CL A UNITEDHEALTH GROUP INC VIACOM INC WELLPOINT INC	58.480 16.350 686 000 21.640 59 170 63.570 38 390 32.600 20.640 50 680 45.410 66.250	2,047 2,126 686 9,197 3,550 3,496 2,879 1,630 2,270 4,054 3,406 4,969	\$2 00 \$0.52 \$0.00 \$0 88 \$1 64 \$1.92 \$3.16 \$0.00 \$0.16 \$0 65 \$1 00 \$1.00	70 68 0 374 98 106 237 0 18 52 75
1	130 1 425 60 55 75 50 110 80 75	NV ENERGY INC NVR INC PFIZER INC THE TRAVELERS COMPANIES INC TIME WARNER CABLE INC TRANSOCEAN LTD TRW AUTOMOTIVE HOLDINGS INC TYSON FOODS INC-CL A UNITEDHEALTH GROUP INC VIACOM INC WELLPOINT INC	16.350 686 000 21.640 59 170 63.570 38 390 32.600 20.640 50 680 45.410	2,126 686 9,197 3,550 3,496 2,879 1,630 2,270 4,054 3,406 4,969	\$0.52 \$0.00 \$0.88 \$1.64 \$1.92 \$3.16 \$0.00 \$0.16 \$0.65 \$1.00	68 0 374 98 106 237 0 18 52
1	1 425 60 55 75 50 110 80 75	NVR INC PFIZER INC THE TRAVELERS COMPANIES INC TIME WARNER CABLE INC TRANSOCEAN LTD TRW AUTOMOTIVE HOLDINGS INC TYSON FOODS INC-CL A UNITEDHEALTH GROUP INC VIACOM INC WELLPOINT INC	686 000 21.640 59 170 63.570 38 390 32.600 20.640 50 680 45.410	686 9,197 3,550 3,496 2,879 1,630 2,270 4,054 3,406 4,969	\$0.00 \$0.88 \$1.64 \$1.92 \$3.16 \$0.00 \$0.16 \$0.65 \$1.00	0 374 98 106 237 0 18 52
1	425 60 55 75 50 110 80 75	PFIZER INC THE TRAVELERS COMPANIES INC TIME WARNER CABLE INC TRANSOCEAN LTD TRW AUTOMOTIVE HOLDINGS INC TYSON FOODS INC-CL A UNITEDHEALTH GROUP INC VIACOM INC WELLPOINT INC	21.640 59 170 63.570 38 390 32.600 20.640 50 680 45.410	9,197 3,550 3,496 2,879 1,630 2,270 4,054 3,406 4,969	\$0 88 \$1 64 \$1.92 \$3.16 \$0.00 \$0.16 \$0 65 \$1 00	374 98 106 237 0 18 52 75
1	60 55 75 50 110 80 75	THE TRAVELERS COMPANIES INC TIME WARNER CABLE INC TRANSOCEAN LTD TRW AUTOMOTIVE HOLDINGS INC TYSON FOODS INC-CL A UNITEDHEALTH GROUP INC VIACOM INC WELLPOINT INC	59 170 63.570 38 390 32.600 20.640 50 680 45.410	3,550 3,496 2,879 1,630 2,270 4,054 3,406 4,969	\$1 64 \$1.92 \$3.16 \$0.00 \$0.16 \$0 65 \$1 00	98 106 237 0 18 52 75
1	55 75 50 110 80 75	TIME WARNER CABLE INC TRANSOCEAN LTD TRW AUTOMOTIVE HOLDINGS INC TYSON FOODS INC-CL A UNITEDHEALTH GROUP INC VIACOM INC WELLPOINT INC	63.570 38 390 32.600 20.640 50 680 45.410	3,496 2,879 1,630 2,270 4,054 3,406 4,969	\$1.92 \$3.16 \$0.00 \$0.16 \$0.65 \$1.00	106 237 0 18 52 75
1	55 75 50 110 80 75	TIME WARNER CABLE INC TRANSOCEAN LTD TRW AUTOMOTIVE HOLDINGS INC TYSON FOODS INC-CL A UNITEDHEALTH GROUP INC VIACOM INC WELLPOINT INC	63.570 38 390 32.600 20.640 50 680 45.410	2,879 1,630 2,270 4,054 3,406 4,969	\$3.16 \$0.00 \$0.16 \$0 65 \$1 00	237 0 18 52 75
1	75 50 110 80 75	TRANSOCEAN LTD TRW AUTOMOTIVE HOLDINGS INC TYSON FOODS INC-CL A UNITEDHEALTH GROUP INC VIACOM INC WELLPOINT INC	32.600 20.640 50 680 45.410	2,879 1,630 2,270 4,054 3,406 4,969	\$0.00 \$0.16 \$0 65 \$1 00	0 18 52 75
1	50 110 80 75	TRW AUTOMOTIVE HOLDINGS INC TYSON FOODS INC-CL A UNITEDHEALTH GROUP INC VIACOM INC WELLPOINT INC	20.640 50 680 45.410	1,630 2,270 4,054 3,406 4,969	\$0.16 \$0.65 \$1.00	18 52 75
	110 80 75	TYSON FOODS INC-CL A UNITEDHEALTH GROUP INC VIACOM INC WELLPOINT INC	20.640 50 680 45.410	2,270 4,054 3,406 4,969	\$0 65 \$1 00	52 75
	80 75	UNITEDHEALTH GROUP INC VIACOM INC WELLPOINT INC	50 680 45.410	4,054 3,406 4,969	\$0 65 \$1 00	75
	75	VIACOM INC WELLPOINT INC	45.410	3,406 4,969	\$1 00	75
Strategic Growth		WELLPOINT INC		4,969		
Strategic Growth	,,		00.200		3a (.UU	15
Strategic Growth		Total Stratagle Value		112 AI	41.00	
Strategic Growth					2.63%	2 052
		Total Strategic Value		150,219	2.03%	3,952
Matebio Growth	30	ACCENTURE PLC IRELAND	53 230	1,597	\$1.35	41
		ALLERGAN INC	87.740	4,212	\$0.20	10
		AMAZON.COM INC	173 100	3,116	\$0.00	0
		ANADARKO PETROLEUM CORP	76.330	2,672	\$0.36	13
		APPLE INC	405 000	14,175	\$0.00	Č
		BOEING CO	73.350	2,567	\$0.00 \$1.76	62
			63 740		\$0.00	02
,		BORG WARNER AUTOMOTIVE INC	29 360	1,785 3,523	\$0.00 \$0.36	43
		BROADCOM CORP			\$0.00 \$0.00	
		CBRE GROUP INC	15.220	1,750		C
		CELGENE CORP	67 600	1,352	\$0.00	C
		CITRIX SYSTEMS INC	60 720	2,429	\$0.00	0
]		COMCAST CORP	23 710	3,983	\$0 45	76
		COVIDIEN PLC	45 010	3,376	\$0.90	68
		DANAHER CORP	47 040	5,174	\$0.10	11
		DOLLAR GENERAL CORPORATION	41.140	1,851	\$0.00	(
		DOW CHEMICAL CO	28.760	1,869	\$1 00	65
!		EMC CORP-MASS	21 540	3,123	\$0.00	C
		EOG RES INC	98.510	3,940	\$0.64	26
		ESTEE LAUDER COMPANIES INC	112 320	674	\$1 05	6
	60	EXPRESS SCRIPTS INC COMMON	44.690	2,681	\$0 00	C
	25	FLOWSERVE CORP	99 320	2,483	\$1 28	32
	55	FMC TECHNOLOGIES INC	52 230	2,873	\$0.00	C
	90	GENERAL MILLS INC	40 410	3,637	\$1 22	110
	29	GILEAD SCIENCES INC	40.930	1,187	\$0 00	C
	13	GOLDMAN SACHS GROUP INC	90 430	1,176	\$1 40	18
	11	GOODRICH CORPORATION	123.700	1,361	\$1.16	13
	14	GOOGLE INC	645 900	9,043	\$0 00	(
	35	HARLEY DAVIDSON INC	38.870	1,360	\$0 50	18
	14	HERSHEY COMPANY (THE)	61 780	865	\$1.38	19
		ILLUMINA INC	30.480	1,219	\$0 00	C
		INTUIT INC	52 590	2,892	\$0.60	33
		JOHNSON CONTROLS INC	31.260	2,032	\$0.72	47
		LIMITED BRANDS INC	40.350	2,421	\$0.80	48
,		MARVELL TECHNOLOGY GROUP	13.850	3,116	\$0.00	(
•	50		31 180	1,559	\$0.74	37
	55		70.070	3,854	\$1 20	66





A subsidiary of AllianceBernstein L P

DONALD M EPHRAIM

Account No.* 888-49405

Last Statement 11/30/2011

Period Ending 12/30/2011

* Comprised of the following sub-accounts: 039-04287 039-04290 039-22992

Quantity	Description	Price	Market Value	Estimated A	nnual Income
				Rate	Amount
45	NOBLE ENERGY INC	94.390	4,248	\$0.88	40
	ORACLE CORP	25.650	4,232	\$0.24	40
13	PEPSICO INC	66 350	863	\$2 06	27
12	PERRIGO CO	97.300	1,168	\$0.32	4
45	POTASH CORP OF SASKATCHEWAN	41.280	1,858	\$0.28	13
21	PRECISION CASTPARTS CORP	164.790	3,461	\$0.12	3
10	PROCTER & GAMBLE CO	66 710	667	\$2.10	21
23	PVH CORP	70.490	1,621	\$0 15	3
115	QUALCOMM INC	54.700	6,291	\$0 86	99
24	ROCKWELL AUTOMATION INC	73.370	1,761	\$1 70	41
80	SCHLUMBERGER LTD	68 310	5,465	\$1.00	80
70	STARBUCKS CORP	46.010	3,221	\$0.68	48
70	UNITED PARCEL SVC INC	73.190	5,123	\$2 08	146
11	V F CORP	126 990	1,397	\$2.88	32
	VISA INC	101.530	1,726	\$0.88	15
	WALT DISNEY CO	37 500	4,313	\$0.60	69
	WELLS FARGO & CO	27.560	689	\$0.48	12
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		166 AI	707.0	
	Total Strategic Growth		155,197	1.00%	1,555
	Total U.S. Equity		305.415	1.80%	5,507
International Equity International Portfolio 8,197.153	BERNSTEIN INTERNATIONAL PORTFOLIO	12 410	101,727	\$0.26	2,090
Emerging Market Emerging Markets Fund 2,049.137		24.230	49,651	\$0.24	492
Real Estate AllianceBernstein Globa 9,526 323	al Real Estate Fund ALLIANCEBERNSTEIN GLOBAL REAL ESTATE INVT FD II CL I	7 990	76,115	\$0.24	2,239
Dynamic Asset Allocatio 27,294.942	on Overlay Overlay a portfolio Class 1	10.100	275,679	\$0.12	3,139





A subsidiary of AllianceBernstein L.P.

Account No.* 888-49405 **Period Ending** 12/30/2011

Last Statement 11/30/2011

DONALD M EPHRAIM

* Comprised of the following sub-accounts: 039-04287 039-04290 039-22992

Quantity	Description	Price	Market Value	Estimated A	nnual Income
()				Rate	Amount
3,530.291	OVERLAY B PORTFOLIO	10.650	37,598	\$0.25	865
	CLASS 1				
	Total Dynamic Asset Allocation Overlay		313,277	1.28%	4,004
Unmanaged Assets Unmanaged Equity					
1,500	BANK OF AMERICA CORPORATION DEPOSITARY SH REPSTG 1/1000TH PFD SER H 8.2%	22.100	33,150	\$2.05	3,075
1,000		6 720	6,720	\$0.64	636
5,000		25.590	127,950	\$2.50	12,500
60		1,056.000	63,360	\$75 00	4,500
1,200		3.030	3,636	\$0.36	432
_,	Total Unmanaged Equity		234,816	9.00%	21,143
	Total Portfolio Value		1,275,510	3.16%	40,260

ET TRADE FINANCIAL Trading · Investing · Banking

Complete Investment Account

Account Number: 5558-4949

Statement Period: December 1, 2011 - December 31, 2011

Account Type: BUSINESS

ACCOUNT HOLDINGS

CASH & CASH EQUIVALENTS (0.00% of Holdings)

DESCRIPTION					OPENING	CLOSING BALANCE	CLOSING PORTFOLIO BALANCE (%)	AVG
TOTAL CASH & CASH EQUIVALENTS YTD INTEREST (CREDIT IN STOCKS, ÓPTIONS & EXCHANGE-TRADED FUNDS (100)	IVALENTS YTD INTE	REST (CREDIT IN D FUNDS (100.	ITEREST ONLY) .00% of Holdings)		\$48.85			
DESCRIPTION	SYMBOL. CUSIP	ACCT TYPE	QUANTITY	PRCE	TOTAL MKT VALUE	PORTFOLIO (%)	EST. ANNUAL INCOME	EST. ANNUAL YIELD (%)
JPMORGAN CHASE & CO	JPM	Margin	6,460	33.2500	214,795.00	38.89	6,460.00	3.01%
MICROSOFT CORP	MSFT	Margin	13,000	25.9600	337,480.00	61.11	10,400.00	3.08%
TOTAL STOCKS, OPTIONS & ETF	& ETF				\$552,275.00	100.00%	\$16,860.00	3.05%
TOTAL PRICED PORTFOLIO HOLDINGS (ON 12/31/11)	HOLDINGS (ON 12/	31/11)			\$566,923.25			
TOTAL ESTIMATED ACCOUNT HOLDINGS ANNUAL INCOME	JNT HOLDINGS ANNI	JAL INCOME			\$16,860.00			

Statement of Shareholder Receiving a Distribution of Stock DONALD M EPHRAIM FAMILY FOUNDATION (Account: 888-49405)

Receiving a Distribution of Stock of Huntington Ingalls Industries, Inc Filed Pursuant to Treasury Regulation Section 1 355-5(b)

The undersigned, a shareholder owning common stock of Northrop Grumman Corporation as of March 30 2011, the record date, received a distribution on March 31 2011, fixed record date, received a distribution on March 31 2011, from Northrop Grumman Corporation shares of common stock of Huntington Ingalls Industries, Incate a corporation controlled by Northrop Grumman Corporation to which Section 355 of the Internal Revenue code of 1986, as amended (the "Code"), applies

- The names and addresses of the corporations involved are ۶
- Northrop Grumman Corporation 1840 Century Park East Los Angeles, CA 90067 Los Angeles, (a)
- Huntington Ingalls Industries, Inc 4101 Washington Avenue Newport News, VA 23607 (a)
- securities of Northrop Grumman Corporation The undersigned surrendered no stock or in the distribution က
- undersigned received 14 shares of common stock of Huntington Ingalls Industries, Inc in the distribution The
- Revenue Service to the effect that the distribution of shares of Huntington Ingalls Industries, Inc Northrop Grumman Corporation has received a private letter ruling from the Internal as a tax-free distribution under section 355 of the Code common stock qualifies 2

Sharehol

Signature

THE TAX PERIOD 2011 FEDERAL INCOME TAX RETURN FOR S *** ATTACH TO YOUR U

Statement of Shareholder Receiving a Distribution of Stock 🚞

DONALD M EPHRAIM FAMILY FOUNDATION (Account: 888-49405)

Filed Pursuant to Treasury Regulation Section 1 355-5(b) of Marathon Petroleum Corporation Receiving a Distribution of Stock Statement of Shareowner

- June 27 2011, the record date, received a distribution on July 01 2011, from Marathon Oil Corporation shares of common stock of Marathon Petroleum Corporation, a corporation controlled by Marathon Oil Corporation to which Section 355 of the Internal Revenue code of 1986, as amended (the "Code"), applies The undersigned, a shareholder owning common stock of Marathon 0:1 Corporation as
- names and addresses of the corporations involved are The . د
- Marathon Oil Corporation 5555 San Felipe Road Houston, TX 77056 (a)
- Marathon Petroleum Corporation 539 South Main Street Findlay, OH 45840 (p)
- The undersigned surrendered no stock or securities of Marathon Oil Corporation in the distribution
- common stock of Marathon Petroleum Corporation The undersigned received 65 shares of in the distribution 4
- Marathon Oil Corporation has received a private letter ruling from the Internal Revenue Service to the effect that the distribution of shares of Marathon Petroleum Corporation common stock qualifies as a tax-free distribution under section 355 of the Code 2

aréholder

FEDERAL INCOME TAX RETURN FOR THE TAX PERIOD 2011 S *** ATTACH TO YOUR U